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Booklet A (50 marks)

For each question from 1 to 25, four options are given. One of them is the correct answer. Choose
the correct option (1, 2, 3 or 4) and shade the. correct oval on the Optical Answer Sheet (OAS).
(25 x 2 marks) T

1 Three living things, X, Y and Z were ob’serveﬁ over a pericd of fime. Michae! recorded his
observations in the table below: . :
Characteristics ‘ X Y - Z
Make its own food No Yes No
Move from place to place . No No Yes
Respond to changes around it Yes Yes Yes

Which one of the following could be X, Y and Z?

X Y Z -
4} Balsam Plant Toadstoo! Lion
(@) Toadstoo! Balsam Plant . Whale
(3) Rain tree Bactenia * - Yeast
(4) Squirrel Grass Mushroom
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2 Suhaimi observed the life cycles of a cockroach and a mosquito over 2 months, September
and October. Each time the animals changed from one stage to the next, he kept a record

in his calendar as shown below.

" ‘Sepiember 2015 .
1 2 3 4 5
Cockroach
Egg laid
(Stage 1) :
6 T 8 9 10 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 26
27 28 29 30
Mosquito
Egg laid
{Stage 1) .
October 2015
1 2 3
Mosquito
{Stage 2)
4 ) 6 7 8 g . 10
Mosquito | Cockroach Mosquilo
{Stage 3) | (Stage 2) {Stage 4)
11 12 13 14 15 16 17
18 19 20 21 22 . 23 24
25 | 26 | 27 28 39 | .30 | 31

1)

2)

3)
4).
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3 Study the flow chart below carefuily.

Living things

l

» Yes-

Question A Mealwonm beetle
No
Yes
Question B Grasshopper
No
" Frog
What are Questions A and B?

Question A Question B

(1)

2)

3

S @4

Does the young have wings?

Does it go through a three-.
stage life-cycle?

Does the young resemple the

Does it go through g four-stage

lrfe-cycle? N

"adult? - hfe—cycle‘7
Does it go through a four—stage Does the’ young resemble the
life-cycle? | aduit?
| Does.it gothrough a four-stage || . . ‘Cai'the young fly? -
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4 Marcus prepared three set-ups to lnvestlgate the conditions needed for Seed germmaﬂon.
All the set-ups were placed in the classroom at constarit room temperature.

Black box’

Wet
.cotton wool

- Seeds

container

In which of the above set-up(s) would the seeds germinate?

(1) Ponly

. (2 PandQonly
(3) Qand R only
4 PQandR

5 George inflated a rubber ball and measured its mass as shown in Diagram A. He pumped
more air into the ball and measured its mass as shown in Diagram B.

ball
ball

weighing -
scale ..

_ DiagramA T Diagram B
What can he conclude from this experiment?

A Arhasmass - .
- B-. . Aircanbecompressed. .. ... .

Q Air has a definite shape.

D Air does not occupy space.

Which of his conclusion(s) isfare correct?

(1) AandBonly
(22 BandConly
(3) A, CandDonly
{4) A BandDonly
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6 The following shows a family tree.

John Ke-ith

Key:

John'and Keith shared S|mtlar physncal charactenstlcs Based onthe farmly free, thls is
because : .

1) their mothers are sisters

2) they have the same parents °

3) they have the $ame grandparents )

4) John’s father and Keith’s mother aie related'

7 Which of the following substances are carried away from the foetus Elood to the mother's
blood through the umbilicat cord?

K oxygen

B digested food
C carbon dioxide
D waste materials

1) A and C only
2) C and D oniy
3) A, B and C only
4 A, B and D-only
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8 . The statements A, B, C and D describe the different stages of the Iife cycle of a ﬂowenng

plant _
A The fruits start to grow.
B The flowers are pollinated.
C The flowers start to appear.
D The shoots start to grow from the seed.

Diagram 1 below shows and describes the life cycle of a flowering plant.

/-u The leaves starttoappear. ——» | 1 | —» | 2 \‘

4

The flowers are fertilised.

’\ The roots start - The seed are /
!

togrowdown <——  dispersedby +— | 3
into the soil. animals.

Diagram 1

Which of the following correctly describes the complete fife cycle of a flowering plant?

Position in Diagram 1
1 2 3 4
(1) D A B -
2 A C B D .
(] B C D A
@ . c B8 A, D
g9 Which of the followung isfare true about water vapour water or/and ;ce'f"
R * Iob Has defmte Shape.” '
B Water and water vapour are in the same state.
L Water vapour, water and ice have definite volume.

D Water vapour, water and ice are in different states of matter.

1) A and D only.
2) BandC only
3) C and D only
4) A, B and C only
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10 . Study the water cycle below carefuily.

clouds

oy

9]
S
|
jw)

water bodies

Which are the correct words to be placed in boxes A, B, C and D?

A B | c D
)] evaporaﬁon water vapour melting rain
(2) condensation o rain . -evaporation water vapour
(3) condensation rain 1. melting water vapéur
(4) evaporation water vapour condensation rain

11 Tristan listed ways to conserv,e water at home.

A Washing the car with a water-hose. .

B Using water from a running tap to brush teeth .

C Using the washing machine to wash only a pair of jeans.
D

Watering plants with the same water that was used to wash rice.
Which of the ways stated above did:ggt help with the conservation of water at home?

1 B and C only

2) _BandDonly

3} A BendConly -
4) A, C and D only
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12 An experiment was set up with four magnets as.shown beiow.

G-

Which of the following correcﬂy identifies the poles A, B, E and H?

1)
2)

3)

4)

A B

t D

7

:E-

A B E H
South North South South
South North North North
North South South North
North South North South

13 The diagram below shows four magnets, A, B, C ‘and D of different sizes. Each of the
magnets was placed at an equal distance of 5 cm from some thumbtacks. The number of

thumbtacks attracted by each magnet was recorded in the table'below.

tray of thumbtacks
Magnet A B D
Number of thumbtacks .| . ., . | . '
: attracted T 12 - 18 ... 4. 14 ..

Which one of the following conclusions can be drawn from the results above?

1)
2)

A- - Magnet Cis the-weakest magnet. . .

B Magnet B'is as-strongds magnetD. . .-~
C Magnet A is stronger than Magnet C.
D The strength of the magnet is not affected by its size.

A and B only
C and D only
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14 Study the diagram below.

Food ‘ -)\ir _
| A ' B
Digested food Oxygen
7
i B
Cell
results in

E——

A, B and C represent systems in the human body white D represents a'process in the
human body. Which of the following is most likely A, B, C and D?"

A B c D

(1) Circulatory Respiratory Digestive Digestion
(2) | Digestive - Circulatory Respiratory Respiration
(3) Circutatory Digestive Respiratory |, ~ Digestion
4) -Digestive ' Respiratory _ dircu_la‘_tpry +| - Respiration
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15 Nathan used three similar plants, A, Band €, to conduct an experiment. He trimmed off all
the leaves from Plant A, and some leaves from Plant C. He then putthe 3 plantsin 3
identical containers.and placed them in the same location:Each container was given the
same amount of water each day. :

| container
water

container

PlantA

After4 days;.Néthaﬁ measured the height of the water in each container.

The aim of his experiment is to find out if

1)
2)

3).

4)

the leaves of the plant absorb water

the plant needs roots o absorb water

the number of leaves affect the rate of absorption of water by the plant
the stem of the plant help to transport water from the roofs to the leaves
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16 Michael wants to find out the: conditions that plants need to survivé. He used 4 identical beli -

_Jars, J1, J2, J3 and J4 and 4 identical plantsifor his experiment. He placed each plantin a
beiljarand put them under the specific set of conditions stated in the table below.

< ‘BellJar-
Conditions

Sunlight x v v %x

. Waler

Fertilizer

Carbon dioxide v v = [ v

Oxygen | Y. v

Key: ot “present
V. . present

Which 2 bel jars would-he:need-to monitor if ha wants to'show that sunlightis. . -
needed by plants to make food? ’ . e

i JiandJ3
® JlandJd
@  J2andJds:
(4 J2andJ4

17 '!:he diagram shows the process of respiration in piants.
carbon dioxide "+
X —I— Oxygen ——» Y

- Which of the following X, ¥ and Z can be correctly 'placgq“ip th__e__djagram? -

X Y 7z

1
2)
3)
4

glucose

water

light

water

light

energy

glucose

water

energy -

Tight

energy

glucose

AGS (Junior) P5 SA2 2015



.18 The table betow shows the various parts'preserit in 4 different cells, A,.B;CandD.
Atick (v") shows the part present in-the cell. )

Part of cell CellA | CellB CeliC “CellD
Nucleus v v 4 v
Cell Wall v v
Cytoplasm v v v v
Chiloroplasts v
Cell ﬁﬂembrane v v v v

The chart below shows how the 4 cells, L1 A O @ .can be dlassified:

Living Things
Animal Cells Plant Cells
I:l and A
Carry out 1 Do not carry out
photosynthesis photosynthesis
Ne) 4
Based on the above information, which of the following correctly represents celis A, B, G
and D? o : -
O A O ¢
1) Cell C Cell B Cell A Cel D -
.9 Cell B Cell D CellC . CellA
gy - CellB - | - CelfDeie#| - Cell A oy - GallC -

4) Cell A - CellB - CellD-.. CellC
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19 Six metal clips, A, B, C, D, E and F were fixed on a circuit. card as shown-in Figure 1.
Figure 2 shows a circuit tester with a battery and a bulb connected to two wires X and Y.

circuit card

X

c<| y
\n

Figure 1 Figure 2

Malcolm connected some but not all of the clips on the circuit card in Figure 1 with wires X
and Y. He then connected X and Y- across different pairs of clips in turn. He recorded his
results in the table below.

Clips connected to circuit Builb of circuit tester
: tester
AandB Lights up
BandD Lights up
DandF . Lights up
DandC Does not light up
EandF Lights up
The bulb will not light up when clips are connected.
1)  AandF '
2) AandD
3) BandC

4) BandE
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20  Studythe circuit shown below.

2

/ /

I
- H -

What is the least number of switches that must be closed for all the bulbs to light up?

1) 2 switches only
2) 3 switches only
3) 4 switches only
4y & switches only

21 A beaker of ice cubes was heated aver a fire at point A and left to cool to room temperature.
Daniel recorded its temperature over time in the graph below.

Temperature (° C)

F 3 C D
100

80—
60

.
»

0 A | B ' Time (min)

Based on the graph above, which of the follgwing stows the'time peﬁéd(s) ‘of heait ga‘ih'?" S

1}  BConly

2)  ABand BC only

3)" CDand DE only

4}  AB, BC and CD only
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22 The experiment below was set up in a dark room. Objects A, B and C were lined upina
straight line. When the torch was switched on, a shadow was seenon objectC. . | :

Shadow

\.  \

torch

Which of the following materials are objects A, B and C made of?

A B c
(1) Rubber Clear plastic Wood
(2) Clear plastic Wood Rubber
(3) Wood Clear piastic Rubber
(4) Clear plastic Clear plastic Wood

23 Donald set up an’experiment as shown below, He released the ball at point R. The ball
rolled down the siope, slowed down and finally stopped at point Q.

bali

- I r

: .. Which of the following statements 2oyt the experiment are corect?., ... . -

A The ball had kinetic energy at point P. ' -
B The ball had gravitational potential energy at point R..
c The kinetic energy of the ball decreased as it moved from R to Q. -
D The ball had the highest amount of gravitational potential ehergy;‘a_t: pointQ: . ./

1) A and B only 8)  ACandD only
2) B and D only 4) B, C and D only
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24  The diagram below shows a plant in a garden. A, B, C and D represent substances

involved in photosynthesis.

(1)
(2)
(3)
(@)

U~
<3 >
£5Q
~V
S S S S S S S SSSS
Which of the following substances do A, B, C and D represent?
A B c D
. Food Water Carbon dioxide Oxygen
. Food + \Water Oxygen Carbon dioxide
: Water Food Oxygen Carbon dioxide
Water Food Carbon dioxide ‘Oxygen *

»S {Junior) P5 SAZ 2015




s diaaram holmar T Hhom o bt a0 OWINGS 10 Foint B then Point C as showri"ig :f;‘
the diagram below. It then swings back to Point B and finally to around Point A. *

RO $0 el )
. - S~
[ R
L
o
e
o
e

Which of the following graphs shows the cbz;ng "]
potential energy of the pendulum bob as it swings from Paint C to Po

‘and” gravitational

Tgy..
B?

int

Key

kinetic energy

| ==--~~ gravitational

.. “poteritial energy

(1) @)
En ergy Ar

—» Position

@ (4)

Ao T, EnefQYJ .

_V
4

—» Position

» Position
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Booklet B (40 marks)

26

i _ Animal M
(a)  Mickey said that Animal M is a fish. Tick (v) the stafement(s);;_that-suppoﬂr.t(s)—wha_t‘.
Mickey said. - » _ 2]
; Puta tick{v) ifthe " |
Statement statement(s) is/are true.

It ives in water.
| I¥has 3 body paris.”
It uées gills to breathe.

it uses its fins to swim.

ltis coveréd with scales.

(b) Draw an arrow { — ), inthe diagram above pomt:ng to the part of Ammal M
i where the.absorption-of oxygen.oceurs, - . - {1]

(Go on to the next page)
SCORE

ACS {Junior) P5 SA2 2015



e JT.

* 27 -Mary wanted-to-find.out the volume of the bottle. She filled it to the brim with 300cm® of

marbles as shiown ,pelow.

W

A '.i

i

0
4

Bottle

(8)  Tick (¥) the box that shows the fhost likely volume of the bottle. 1]

Volume of bottle Tick ( ¥ ) the most likely volume

Less than 300cm®

Is equal to. 300em®

More than 300cm’®

(o)  Explain your ansv{;er in (a). 4]

() Mary uncorked the bottle above and tried to squeeze 10 more marbles into it. Did

she sucteed? Explain your answer in terms of property of matter. TR
{Go on to the next page)
SCORE
3
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28 The diagram shows parls of a river where two types of plants ‘ and A ) are growing.

Legend
Q Piant X
A PlantY

|:> river flow

{a) State the method of dispersal for plants X and Y. 1]
M X
(i) Y:
(b) Give a reason for your answer to (2)(i)- 1]
(c) Name two characteristics of the fruit of plant X. [1]
(Go on to the next page)
SCORE
3
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29  John carfied outan éxperiment on germination of 3 seed as shown pfe,l_ow.

seed leaf

Seed Seedling

In the graph below, the two lines, X and Y, show changes in the mass of the seed leaf and
the shoot of the seedling during the period of germination.

Mass (g)
4

0 | { l t | » Time (days)
2 4 ] 8 10 ’

(a)  Which line, X or Y, shows how the mass of the seed leaf changes during the
experiment? Explain your answer. : [13

(b) . What would happen to the seed if there were no sunlight throughout the first eight
: days? Explain your answer. 11

.. . {6)  Using the information from the graph, how will the seedling survive after day.8
v onwards? R e

{Go on to the next page)
SCORE
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-30 Kieran wanted to:find out if the: exposed surface area of a towel affects. the’ rate of . '
evaporation of water from the ‘towel-Fe: soaked two towels; Tt “and T2 in'water for oné’

minute and hung them at dﬂferent locations.

[AENNYY

L)

L1

JMH«A’M e
Towel Tt placed under the = Towel 'rz placed inan’ .
shade in'a garden R - open-field ”
{a) Kieran's teacher commented that the experiment was not afair test! What:was the
“mistake that Kiéran had made? 5 M
(b) Put a tick (v) against the vanables that are to be kept the same for the testtobe a
fair one. “ i
T vériabies obokepithesame | indicate SR )
M Type and matenai of the towe!s _ )
(i) Amount of water each towel is soaked m
(i) | Mass of the towels after the expenment
{iv) The exposed surface area of both towels
()] Name iwo other factors that affect the rate of evaporation. 1]
{Go on fo the next page)
SCORE i
- 3
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31 The classification chart below shows the different ways of bonservinQ water.

Water conservation
A B c
Treating water Use water from Using a pail of water to
collected in the washing vegetables to wash the car
reservoir water the plants

(a) Based on the examples given, write ‘Reuse’, ‘Reduce’ and ‘Recycle’ for the

sub-headings A, B and C in the chart above.

(1]

(b) List two man-made activities that are harmful to water sources. {1}

ACS (Junior) P5 SA2 2015
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32 David set up an experiment as shown below, He placed a strong magnet and a plastic - °
block 4 cm apart on the table. : . '

strong
magnet
\ ruler
S
< —=> |\
4cm

plastic block

He recorded his observation in the tabie below. He repeated the

experiment by replacing
the plastic block with Blocks B and then Block C which are of the same_§ig§,
His results are shown befow. | ‘
Observation
Plastic Bli‘Jck Digi_nqt‘ move.
Block B Moved towards the magnet
Bloék—c Moved away fi;om the m.agnet'

(a) David said that Block B is made fromi aluminum. Is he correct? Explain your
answer.

2]

(b)  What can Block C be? Explgin your answer. M

(Goontothe next page)
SCORE T
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33 The graph below shows the path of food through different organs in the digestive system.

Amount 1
of digested
food

X

dfgan A

Organ B

Organ C

Organ D

(a)  What can Organ E possibly be? Explain your answer.

Organ E

[1]

(b) . identify Organ B.

[1]

(c) Explain the decrease in the amount of digested food between points Xand Y.  [1)

ACS (Junior) P5 SA2 2015
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34  The graph below shows the difference between the compositions of inhaled air and

exhaled air.
Composition Composition
of air (%) of air (%)
i 1
- ’_ %
7
%
%
;
7
— > é 773 / —
A B c Type of A B c Type of
e ot ok ~ gases e T ~ gases
Inhaled air Exhaled air
(@)  Choose the corect words from the box to fill in the blanks below. 2
" nitrogen carbon dioxide oxygen
Types of Gases
" :
B
- ' ) c .

" (b) "~ Based on the graph, there is o charge in the perceniage of Gé'g:D"w'l'iéﬁ inhaled
and exhaled. Explain why there is no changeinGas {1]

ACS (Junior) P5 SAZ 2015
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Matthew had three rods, R1, R2 and R3; made-of different materials. He placed them at
various positions, A, B and C, of the circuit shown below.

[

35

l d
Rodé R2 and R3 are é!ectﬁcal conductors while- Rod R1 is an electrical insulator. Matthéw
arranged the rods in three different combinations as shown below.

(@) In the table below, only put ticks (v) in the boxes for the bulbs that will light up.  [2]

Positions where the rods Would the bulbs light up?
Combination were placed : .
A B Cc B1 B2 B3
1 R2 R3 R1
2 Rt R2 R3 -
3 R3 R1 R2 .

What would happen to bulbs B1 and B2 in the circuit if bulb B3 is being replaced - .
(11

(b)
- with Rod R1? Explain your answer.

(Go on to the next page)
SCORE

ACS (Junior) P5 SA2 2015



36 Jaspar set up an electric circuit as shown in the circuit diagram below.

(a)  What will happen to Bulb Rif Bulb T is fused?

4y

(b} Jasper removed one of the bulbs from the circuit and the remaining bulbs did not

light up. Which bulb did he-remov&?

!

(c) In the box provided below, draw a circuit diagram to show how Jasper can connect
2 batteries, 3 bulbs and some wires such that alt the bulbs will shine with the same

brightness. - .

1]

—d[—

{Go on fo the next page)

‘SCORE
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L:qu;dWhelps mdtgesﬁonbyspeedmg up the breaking down of starchmtosTmplesugars

a7 : g
John set up an experiment, as shown below, to invesfigate the effects of temperature of
liquid W on the-speed at which liquid W breaks down starch. He poured equal amounts of
starch, water and liquid W into each of the 4 containers.

Container with Container with Containerwith - . Container with
-starch, water and starch, water and starch, water and -."  starch, water and
liquid W at 20°C figuid W at 40°C liquid W at §0°C liquid W at 80°C
Adter 10 minutes, John put a few drops of iodine solution info eachcontatner and recorded
his observations below.
Temperature of content in
' container / (°C) 20 40 60 80
Colour of solution‘in '
container after iodine is Brown Brown Biue-black | Blue-black
added in |
(a) What is the:changed variable in the experiment .QQQ\LQ;? . [11
John : '
()  Statetwo variables that-J42X needs to keep constant to ensure that the experiment
is a fair test. ' _ -
{c) Based ¢n the results above, what can John conclude about his experiment? {11
{Go on to the next page)
SCORE
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33 " John set up an experiment in

* for photosynthesis. -
Lamp
r//'___.s::.h,h__m"‘(, Bell jar
& | Potted
e plant

Set-up A

(a)  Draw andabel the control set-

(b

up in the space given above.

John moved the lamp further and further
amount of oxygen produced by the plantin

a dark room as shown below to find out if plants need light

Cpntfgl

{1

from the potted

plant and measured the
the table below. :

... .From the results, descri
- the potted plant and the

Distance of lamp away from the “Amount of oxygen produced /
potted plant/ cm units
0 18
5 15
10 11
15 7
20 4 .

be the. relationship between the
amount of oxygen produped.

distance’ of the lamp from

(1]

ACS (Junior) P5 SA2 2015
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39  Johnny set up an experiment as shown below. An equal volume of cold water at 2 °C was
added to all- 3 set-ups. Set-up B and Set-up C were wrapped around with Material X and
Material Y respectively.

Thermometer

Stoppel' - m__,/

Set-upB Set-up C

Johnny recorded the temperature of the water in Set-up B and Set-up C over 8 hours in the
graph below.

Tempg.-raturel 4
Cc

Time! hours

(a) Draw and label a line on the graph above to indicate the change in temperature of
set-up A over 8 hours. ) [1]

() ' Compare the rate of heat gain between the water in set-up B and set-up C, ° 1]

(©  Johnny wanted to go for a picnic and needed a container to keep drinks cold for the
longest period of time. Which material, X or Y, is more suitable for the container to
be made of? Explain why. 1

SCORE
End of Paper
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Q26a. Itlives in water. Q26a. It uses 3 body parts.

Q26a. Itusesits fins to swim. Q26a. It is covered with scales
Q26b. See Picture - Answer (arrow) in question sheet.
Q27a. More than 300cm?3

Q27b. As many filled the bottle with 300cm? of marbles in it, the air spaces
between them causing the volume of the bottle to be more than 300cm3

Q27c. No. As marble are solids, they cannot be easily compressed to squeeze in
another 10 more marbles.

Q28ai. X: Water Q28aii. Y: Animals
Q28b. The off springs of Plant X has a fibrous husk and it is waterproof.
Q28c. The frit of Plant X has a fibrous husk and it is waterproof.

Q29a. Line X. The seed leaf provides nutrients for the seedling as it grows
causing its mass to decrease overtime.

=.-.:Q29b..The_seed would continue to grow. The seed does not need sunlight for
growth as it has its seed leaf to provide nutrients for it.

© Q29¢. The seedling's triie léaves Would-appeat arid would make its own food™™ -
during photosynethesis if sunlight is present.

Q30a. He had made an extra variable changed which B the location of the two
. “experiments. : R S

Q30b. Type and material of the towels
Q30b. Amount of water each towel is soaked in

Q30c. The presence of wind and the humidity.
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Q31a. A~Recycle Q31a.B- Reuse - Q31a: Reduce*

Q31b. Throwing excess fertilisers into rivers and throwing unwanted items into
the sea such as empty bottles, used tissue paper and empty cans.

Q3 2a. No. Aluminum is a non-magnetic material and it should not be attracted to
the magnet.

Q32b. A magnet. Only magnets with like poles can move away from each other.
Q33a. Digestion does not take place here.
Q33b. Gullet.

Q33c. Digested food at Point X have been absorbed into the bloodstream to be
transported to other parts of the body causing there to be a decrease in amount
of digested food between Points X and Y.

4t

Q34a. A - Oxygen
Q34a. B - Carbon dioxide
Q34a. C - Nitrogen

Q34b. Gas C is neither produced nor used in the body causing there not to be
change in Gas C.

Q35a. 1-B2n B3 (Q35a.3-B1nB3

Q35b. Bulbs B1 and B2 would not light up. As Rod R1 is an electrical insulator, it
does not allow electricity to pass through causing an open circuit to be formed
and Bulbs B1 and B2 not to light up.

(36a. Bulb R would remain lits.

Q36b. Bulb R

Q36c. See Picture -
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Q37a.The femperature of Liquid W.

Q37b. The material of the containers. The number of drops of iodine solution
added in each container.

Q37c. Liqeidw break down starch at 20 degree and 40 degree Celsius.

Q38a. See picture

=1 -~ Potted Plant

Control

Q38b. As the distance of the lamp from the potted plant increases, the amount of
oxygen produced decreases.

Q39a. See picture

-

 Tempgature! SetUp A

8 Timel hours .

Q39b The water in Setup B gamed heat slower than the water in Set up C.

. Q3 9(:. Matenal X. As materlal X gamed heat the slowest, itis more smtable for the
container to be made of material X to keep cold drinks cold for the longest period
of time.

THE END
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